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2014 oxur eBnLlfiH apra xoMxeoHnrr
HosnrhrH ryxar

MoHron Yncutu "6ne.4hH TaMilp, cnoprbrH Tyxarl" xyynb, 3acruha ra3pbtH 200g onur 05
Ayraap rorroofl, Hwhcnentailn 3acar Aapra 6ereog Ynaax6aarap xorbtH aaxnparvnirn
ueprNH xeren6op, 3At4fH 3acar, nnilrwuila 2014 onur 3opfinrbtr xoperxyyngx 3oprnroop
TYIUAAX uu.

1. Hnhcnsnuirtu 3acar AaprbtH ilBeon 4op "OanrraH Onnrun -2014" ceAgBT eennrln
ynrpanA 3ox14oH 6ailryynax 6weuian raMnp, cnoprbtH yilr axrnnaraaHbt negnrrrlH
egepnerrtlr 2014 oxut 02 Ayraap capbrH 08-Hur epop XaH4rarlrurH "ffH3ara" 3ycflaHA 3oxrtoH
6araryyncyrara.

2. OaniltlH apra xoMxeesrfi neenrmrZr 3oxr4oH OarirryynaxaA utaap.qargax recanrTrr
xaBcpanraap 6arancyrarl.

3. lsspx apra xoMxogr 3oxt4oH 6ailryynaxaA rJJaapAarAax 5.505.000 /raaaH cafl raBaH
syyH TaBaH unura/ rorpoMtlr Hwhcnsnnhn 5uetrtha raMhp, cnoprbtH ra3pbtH opon HyrrrraH
rocenrzx 3apflnaac ra praxbtr HF rrraH oogorv o. SpgeHeqsqorr seau:eepcyreil.

4. lsspx apra xeMxeenA Hutlcnon Ayyprrrax HyrrrarlH 3axilpraaHur 6arlryynnara 6onoH
ax axyilu leoxmtln axunraH an6an xaarl{, upregwilr eproHeep xaMpyynx, 3oxt4oH
6ataryynanrutH eHAep xsMxgsH,,q FByynaxbtr axrax Msproxl4nroH R.SonAnl1aag yypor
6onrocyraN.
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2014 oHur oenrrlH apra xoMxseHnrZ
HsenrhtilH TeceB

Ns 3aptrnurH Hsp Too unpxer,3aprnbtH xeMxoo Hrilr avn
1 YHaauur 3aoaan 100 000? 100.0?
2. XorxrM, V3enb 300 000? 300.0?
? XernerqnfiH xenc 200 000? 200.07
4. AHoHc, vprnra 200.000? 200.07
6 CnoprurH V3VVnox rornonr 500.000? 500.0?
f) Ypnarnitn roTnorr 500.000? 500.0?

7 LUarHan

[-.{acau Aoopx 6yxr,rr
't-p 6arap-30 0?
2-p 6anp 25.0'l
3-p 6arrp 20.07

Tycrarl 6ailp2 x 15 = 30.0?

105.0?

l-lacan xorxoH
1-p 6arap-70 0?
2-p 6anp 60 0?
3-p 6afip 50 0?
4-p 6ahp 40 0?
5-o 6arao 30.0?

250.07

CnoprurH ypaflAaaH roMl.looH: SarZryynnara
1-p 6anp-1 x 300 0?
2-p6anp 1x250.0f
3-p 6ar7rp 2 x200.0?
4-p6arrtp 2 x 150.0?
5-p 6ar,tp 2 x 100.0?

1.450.07

8 UJyVr.,tArraH 3ap.qan: 20xynxlogepx20.0ror 400.0?
a Opreruxnen, LloMbtH 3apAafl '10 Lu x 50.0 = 500.0? 500.0?

10 Brgeo 6nqner 300 000? 300 0?

11 YrlnqrnresHmrl sapgan 300 0? 300 0?

12 9nrusrrsn 400.0? 400.0?

H1414T EYH 5.505.000?

Sonoacpyyncax
XnHacan
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